











































































































F
Ext C

6cm K
y

Ir 12cm

I 4
A toe B f

D 15cm E

Os ABC Find x yDEF
are similar

Ratio 10 15

2 3

x 12 X 8cm

y 6 2 9cm
2

A Let CE xEx2 6cm
Find KD M y a E

8cm
x

B A
20cm

C
Os ABC

ADE
are similar

Ratio of sides 8 20

2 5

Similar Triangles

































Ac 6 5 15cm
2

15 6

K 9cm

Ext n 4 537 Eo 3 dp

4 5365 E n a 4.5375

En n 6.6 to Idp

6 55 h C 6 65

Ex3 h 80 to 1 Sig fig

75 E h L 85

Error Intervals


